A person is on a ride at a carnival. The table below shows approximately how high

- {0038 . y
The function At} = 300e maodels the number of bacteria in a popalation after the person 15 off the ground after ¢ seconds.
 minutes. :
« . What Is the meanlivg of the coafficlent of @ In the context of the Seconds (1)§ Feet off the Ground [A)
~ probleny? [1 3
. What Is the meaning of the coefficient of ¢ In the context of the 10 i
probiem? 20 23
30 33
\ 40 23
- N B \ UJ\'“Q 50 ]
« 300 s e aial value A\ o ;
— . Write an equation of the sine function that best fits the data.
"'O . Whiat Is the meaning of the constant teim in the equation you derivad?

> Radedos %rovd\ 3.8 70 per
t\(\‘\(\\)lfe ‘

Sclentists estimated the number of mosqultees living in an aren i different years. A window maker uses the graph of a Tose curve to create a pattern in stained
lass.
vear |, Mosquitoes 9
{in fhousands B If the window maker uses the equatioh r = Bcos4e ta represent the
196 § curve, what Is the maxlmum petal length?
:;; i3 . How many petals does the graph have?
1999 i8 . Explaln yout answers,
2000 34 ()
2010 22 S ~ 2L +O
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The sclentists theis declded ta use an exponential best-fit mode! to predict the

aumber of mosquitaes that will b in the area in 2020. %’ \
Jovloe VY o gt G pednis,

+ Write an equation that the sclentlsts used to make thelr prediction.
1 Use youlr equation ta predict how many mosquitegs wilt be liviag In the
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A parson is oh a ride at a carnival, The table below shows approximately how high

the person is off the ground after ¢ seconds,
i

Seconds (1) | Feot off the Ground ()
— 0 3
10 i4
20 25
30 33
40 25
>0 14
60 3

Write an equation of thefunctiou that best fits the data.
What Is the meaning of the constant {arm in the equabion you derived?
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‘the chart below shows the amount of insuin i a person’s bioodstream after a
certain ameunt of time, £. -

i [ etminueesy [ 3 [ 15 | 24 | 45|
[ eaits of neutin| 8.6 | 40 |31 | 1.67]

Create a best fit exponential function ko answer ti.\é Quastions.

. To the nearest tenth, how l_'naiw i?nits:'of iﬁsulin are In the person's
bloodstream at £ = 02

. To the nearest percent, what Is the absofute value of the percent
clange per minute of Insulin? -

21036 (. a4A8Y

At t=0,10:36 Oarks of iasdlin
Decrease of 5.0 7% ;Pg,r(;m—\»

Use the piecewlse function helow ta answer each question.

3x+ 2 for 3<x a7 Step2

“Ixt+S5x+10 for "4 5 x <3 Slepi
Hx) =
J2x =F for 7 ¢ x <15 Step 3

. what Is Hie range for step 12
. What is the domaln for the entire function?
What Is K{10.5)2?
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A gaclogist is analyzing the érosion of a ceastline over the past five years, The
table helow shows the'velationship.

TIrﬁ'u.gifégré)' 1 2 3 P 5
ntive Eréalon (feat)| 1.01 | 2.81 | 6.51 | 10,14 16.32
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T “Dass a linear, axponential, or power function best fit the data?
2 Explatn,

Toe CWrite the equation of the functlon that best swdels the data.

v Using the equation reated, bow miuch erosion can be expected aftey
3 years?
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Lineac ¢ =.Q%006
T porential = QY
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A farmer has 600 yards of fenca, He will use some of the fence to
ehclose a rectangular area. He will use the rest to divide the arez into
two congruent recta%leﬁ, as shoven hejow,
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"’ What is the value of x that results in the largest area?
. What is the largest area that the farmer can enclose?

. What are the ﬁeng'tli and the width of the outer fence that

will produce the largest tatal area?
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Hxr3y=goo Y =eA0
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Suppos: that Kyle has §1,500 bo invest, His Investment wiif ear an interest rate The function F{t) = 36(().50)3735' models the amount af cal‘lmn-14, inmy,
oS | i

of #.25% compounded continuously. remalning in a sample t years after the year 1200, -

To the nearest cent, what wili be the vale of Kyle's investinant after
6 years?

To the nearest tenth, how Jong will it take for Kyle's mvestment to
grow bo §3,0007 : ' What ks the meaning of the coefﬂcient of £in the context of the

To tha nearest tenth, what Interest rate would be nee{led fa t| Ip?e pmhlem“

Kyte's investiment in 15 years? l
70

e e’ y= 1500 e ™ = 36(.5)
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What amount of carbon-14 was plesent In the sample in the year
12007
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The general equation of an ellipse is shown below. A chitd is pusling a sled twough the saow with a fores of 20 Newtons at an angle
of 40°.
Gx® - Sdx 4 29y ~ 100y - 44 = O :
To the nearest tenth, what s the vertical component of the force?
Write an equivalent standard equation for the ellipse. ) . To the neaiest tapth, what Is the harizontal compaonent of the force?
Descrlba what the coeffiziants of X% and ¥ in the standard equation tell
about this alifpse, 2 0
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[ } V= 30840 1236 N
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Lek f{x} = 4~

Graph fix - 2) + 3.
Wilte a desception of the transformation that oceurred.
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The function #) = 1, 4408 “";i"r‘lgﬂé‘is the number of cars a dealershig

sold ¢ years after the frs

By what percent is the number of cars being sold
”g:'-‘"déa;ré‘a‘szl;p'd each year?
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The equation y = -f-é-xz represents the mirroer Inside a parabollc iamp.

What is the focal width of the mirror?
Use the equation to explaln your answer.

a= g,
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Focod WidHa = |
9+q =18

Two parametric equations are shown below.

e
Xo=5
y=4t-1

Convert the parametzic equations Inte rectangular form,

Determlne what type of equatlon th,

describes,

e’fectangular form
s




